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Part A (5x1= 10 marks)
Answer AL L questions

Which of the following set isfinite?

@ A ={x/xisodd, x € Z} () B={x/x<10,x € Z}
(c0C={1,2,...... , 999, 1000} (d) None

How many subsets A = {100} contain?

When subtraction of two matricesis possible?

A= I: ;g;“:; hich type of matrix?

Define: Onto Function

f:A- N,A={1 2} f(x) =x + 10, find R

Define: Converse of a conditional

a Rakot isacity write~a

© O N g b~ WD

The value of correlation coefficient lies between
If in rank correlation method Sd? = 0 thenr =

=
o

Part B (5X5 = 25 marks)
Answer AL L questions
1lla A={10},B={20,30},C={10,30},D ={30,40}
Verify (AxB)n(CxD)=(AnC)x(BnD)
OR
11b. Define intersection of setswith example & write down properties of intersection.

12 1 3
12a. If A= |6 10 5| findA+AT andidentify the matrix.
4 15 2

OR

12, A= 1 3. 1 AAT andidentify the matrix.
[10 31] find

13a. Explain briefly with example (1) One — One Function (2) Many — One Function
OR
13b. :R- R, f(X)=2x-1,0:R- R, g(X) =2x + k & fog = gof find k
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1l4a
OR
14b.

15a
OR

15b.

16a

OR

16b.

17a

OR

17b.

18a
OR
18b.

19a

OR
19D.

20a

OR

20b.

Explain briefly conjunction .
Writetruth tablefor (pA gq) Vv (pA r)

Write properties of correlation coefficient.

Find number of pairs from the following results.
S,=8, r=05, Y(x- x)(y-y) =120, 3(x- x)* =90

Part C (5X7 = 35 marks)
Answer AL L questions
A={11, 12,13},B={ 13,14} & C={13} verify

()A-BAC)=(A-B)U(A-C)
2 A-BUC)=(A-B)n(A-C)

Write Distributive Laws & verify it for the following sets.
A={x/xeZ,0< x <6},B={ylyeN,y’=9},C={z/ze N,3<x<5}

0 1 2
If A=|2 -3 0| find A®+4A? - A and identify the matrix.
1 1 -1
5 3 1
If A=|2 -1 2 find A%-7A? -5A + 13| and identify the matrix.
4 1 3

f(x) = x?(x + 1)?/ 4 find f(x) - f(x - 1)
g(x) = x? (x-1) find g(x+1) - g(x)
Define tautology and verify [ (p > Q) A(q— 1) ] = (p — 1) isatautology or not.

Which of the following islogically equivalent ?
(1) p>a=~pVq
(2) pvigAr)=(pVva)A(pVr)

Find regression line y on x from the following information.

X 5 6 7 8 9 10 11
Y 10 12 12 16 16 15 17

Explain scatter diagram method with merits & demerits.
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